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struct MyIO {
int in([4];
int out[4];
Y
struct MyIO IO_array[1l6][16];
register int i, 3j, k;
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sizeof (int) = 4
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for (3j=0; j<16; j++){
for (i=0: i<16; i++) { A

temp0=I0_array[i]l[j].in[0];
templ=I0_array[i][]j].in[1];
temp2=I0_array[i][j].in[2];

temp3=I0_array[i] [j].in[3]; > TWRY TP Yup
IO_array([i]l[j].out[0]l=tempO++;

I0_array[i]l[j] .out[l]=templ++;
IO_array([i]l[j].out[2]=temp2++;
IO_array([i]l[j].out[3]=temp3++; Y,

3}

for (i=0; i<16; i++){
for (j=0; j<l6; j++) {
for (k=0; k<=3; k++) { W TP YO
IO_arrayl[il [j].out[k]+=2;
}
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struct MyIN {
int in([4];
Y
struct MyOUT {
int out([4];
Y

struct MyIN IN_array[1l6][16];
struct MyOUT OUT_arrayl[l1l6][16];
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for (Jj=0; Jj<16; j++){

for (i=0; 1i<16; i++) { A
tempO0=IN_array[i][j].in[0];
templ=IN_array[i][j].in[1];
temp2=IN_arrayl[i][j].in[2];
temp3=IN_arrayl[il[Jj].in[3]; NYRI TP YR
OUT_array[i][j].out[0]=tempO++;
OUT_arrayl[i][j].out[l]l=templ++;

OUT_arrayl[i] [j].out[2]=temp2++;
OUT _arrayl[i][j].out[3]=temp3++;
} : /

for (i=0; i<16; i++){
for (j=0; j<16; j++) { N TP YOp
for (k=0; k<3; k++) {
OUT_arrayl[i][j].out[k]+=2;
}
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int count_end_zeroes(unsigned int v)
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int counter = 0;
int main()

{

int 1i;
for (1 = 0; 1 < 2; 1 ++){
fork() ;
counter ++;
printf ("counter = %d\n", counter);

}
printf ("counter = %d\n", counter);
return O;
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Process A Process B
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